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Write a short note on simple random sampling.

5,6,8,10,11 observations are given in one population. From this
population take sample of two units without replacement and prove

that mean of sample mean and population mean are same.

OR

Ehirgs — ¢

Write meaning of sampling and also state characteristics of a good

sample.

1.4, 5, 6 observations are given in one population. From this population

take sample of two units without replacement and prove that

Mean of sample mean and population mean are same.

Define ANOVA and write its uses.

We have given yields from three plots by taking 10 different types of

wheat. From this data check significant difference between production

of different types of wheat. (F tab 9,20 = 2.41)

Plot 1 2 3 4 5 6 7 8 9 10
6 2 4 2 8 2 8 2 8 8
I 8 2 4 6 6 2 4 4 8 2
Il 4 4 6 4 6 2 2 6 8 2
Total | 18 8 14 12 20 6 14 12 24 12

CTo
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OR
Q-2 (A} Write a short note on one way ANOVA. (07)
®) For the following data use One way ANOVA technique. (07)
(f tab 4,15= 3.06)
1
Cars
fuel 1 2 3 4 5 §5C
! 16 17 1 16 12 72
2 17 17 10 16 12 72
]
3 17 17 11 15 12 72|
4 18 19 12 15 12 76

Q-3 (A} Write mathematical form of Binomial distribution and also write uses of ~ (07)

it.

() By tossing an unbiased coin 10 times find probability of getting 3 (07)
heads.

OR
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(A)

£~ 7
Wi
Write characteristics and uses of Poison distribution. (07)
There is average of 2 % defectives of electric bulbs. If there are 200

bulbs in each box find the probability of at the most 5 bulbs are 07)

defective in each box.
(™ _e*=0.01832)
Write characteristics and uses of Normal distribution. (07)

Height of 1000 soldiers distribution is normal. Where mean is 165 cm (07)
and S.D. is 15 cm. find (i) how many soldiers height is less than 138 cm?
(i) how many soldiers height is more than 198 cm?
[Z=0toZ=1.8 area = 0.4641]
[Z=0t0Z = 2.2 area = 0.4861]
OR

State mathematical form of Normal distribution and write uses of it. (07)

There are 1000 students whose average marks is 42 and standard
deviation of marks is 25. if distribution is normal then how many
students have marks (i) less than 6Q (i) more than 70 (iii) between 30
and 50 |
2> 0792, Pz Ochay T :0.45¢ A:p 3GT
Z> 10, A O, 042 P 0 rsST

Attempt any seven from twelve. (14)

Write full form of ANOVA.

Write formula quartile deviation of Normal distribution.

Write mean and standard deviation of Binomial distribution.



(12)

=
Wis
How binomial distribution is differ from poison distribution?

Write mean and standard deviation of Poison distribution.
Mean of poison distribution is 2.88 then find S.D.

Explain meaning of sampling without replacement.
Explain meaning of sampling with replacement.

Define degree of freedom.

Write any two assumption of ANOVA.

For a normal distribution mean is 50 and variance is 100 then find ~ p(x

~80) Z - b A > 0.4L9565

7

Mean = 12 and variance = 8 in binomial distribution. Find the value of n

and p.



